
5

C

DD
10

9

8

7

6

E

C

B

A

F

E

B

A

Rev

3

GENERAL ARRANGEMENT

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:45
Scale: Project No:

7MADELEY
Drawing No:

GA01

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

1-RB6/2 - PFC150*75

2x 45*290

1-
C

4/
7

-S
H

S8
9*

89
*3

.5

-510GARAGE SLAB

1-
C

4/
16

-S
H

S8
9*

89
*3

.5

1-
C

4/
6

-S
H

S8
9*

89
*3

.5

1-RB6/1 - PFC150*75

2x 45*290

2x 45*290

1-RB4/1 - UB250*26

1-C4/1 - SHS89*89*3.5

1-
C

4/
2

-S
H

S8
9*

89
*3

.5

2x 45*290

1-B4/1 - PFC230*75

2x 45*2901-
C

4/
8

-S
H

S8
9*

89
*3

.5

1-C4/9 - SHS89*89*3.5

1-
C

4/
17

-S
H

S8
9*

89
*3

.5

1-
C

4/
5

-S
H

S8
9*

89
*3

.5

1-
C

4/
4

-S
H

S8
9*

89
*3

.5

1-
C

4/
22

-S
H

S8
9*

89
*3

.5

2x 45*360

1-CIP/1 - PLT25*250

2x 45*240

2x 45*290

2x 45*240

1-B1/1 - PFC230*75

6

1-
C

4/
12

-S
H

S8
9*

89
*3

.5

1-B3/1 - PFC230*75

6

1-C4/14 - SHS89*89*3.5

2x 45*290

1-
PC

1/
1

-U
C

25
0*

73

1-
C

1/
1

-S
H

S8
9*

89
*6

.0

1-ST1/1 - PFC200*75

1-B2/1 - PFC230*75

1-B5/1 - PFC230*75

1-B14/1 - PFC250*90

1-B10/1 - PFC200*75

1-B22/1 - UB250*31

1-
C

4/
10

-S
H

S8
9*

89
*3

.5
1-

C
4/

19
-S

H
S8

9*
89

*3
.5

1-RB5/1 - UC200*46

1-
C

1/
3

-S
H

S8
9*

89
*6

.0

1-C4/20 - SHS89*89*3.5

1-B23/1 - PFC180*75

1-B18/1 - UB200*22

1-B19/1 - PFC180*75

1-B21/1 - PFC230*75

1-RB5/2 - PFC200*75

6

UNIT 1

1-
C

4/
23

-S
H

S8
9*

89
*3

.5

1-
EX

TR
A/

1
-S

H
S8

9*
89

*3
.5

1-
C

4/
11

-S
H

S8
9*

89
*3

.5

1-C4/13 - SHS89*89*3.5

1-
C

4/
25

-S
H

S8
9*

89
*3

.5

1-
C

4/
3

-S
H

S8
9*

89
*3

.5

1-CIP/1 - PLT25*250

1-
C

1/
2

-S
H

S8
9*

89
*6

.0

1-C4/21 - SHS89*89*3.5

1-C5/2 - SHS100*100*10.0

1-
C

5/
1

-S
H

S1
00

*1
00

*1
0.

0

1-
PC

1/
2

-U
C

25
0*

73

1-
C

4/
18

-S
H

S8
9*

89
*3

.5

1-C4/24 - SHS89*89*3.5

1-C4/15 - SHS89*89*3.5

6

6

6

6

6

2x 45*190

2x 45*240

2x 45*290

2x 45*240

2x 45*240

2x 45*240

2x
45

*9
0

2x 45*290

2x 45*290

2x 45*240

2x 45*290

3x
45

*9
0

2x 45*240
2x 45*290

SLAB +0



A B C D E F

6

7

8

9
10

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

NS

E
W

Rev

3

COLUMN MARKING PLAN

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP01

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

68
0

68
0

35
01

20
10

90

89

25
4

90
89

90

89

4251 89

1041

1-C1/3
SHS89*89*6.0
U/S BP
RL: +0

1040

89

6740

90

254

1-C4/19
SHS89*89*3.5
U/S BP
RL: + 0

1216

1-C4/14
SHS89*89*3.5
U/S BP
RL: +0

1-C4/22
SHS89*89*3.5
U/S BP
RL: -510

89

1-C4/13
SHS89*89*3.5
U/S BP
RL: -510

1-C4/25
SHS89*89*3.5
U/S BP
RL: -510

1-C4/3
SHS89*89*3.5
U/S BP
RL: +0

1-C4/12
SHS89*89*3.5
U/S BP
RL: +0

1-C4/20
SHS89*89*3.5
U/S BP
RL: -0

1-C4/9
SHS89*89*3.5
U/S BP
RL: -50

1-C4/10
SHS89*89*3.5
U/S BP
RL: -50

89

1-C4/18
SHS89*89*3.5
U/S BP
RL: +0

1-C 4/16
SHS89*89*3.5
U/S BP
RL: +0

1-C4/24
SHS89*89*3.5
U/S BP
RL: +0

1-C4/15
SHS89*89*3.5
U/S BP
RL: +01-C 1/2

SHS89*89*6.0
U/S BP
RL: -50

1-C4/23
SHS89*89*3.5
U/S BP
RL: +01-C4/21

SHS89*89*3.5
U/S BP
RL: + 0

1-C4/11
SHS89*89*3.5
U/S BP
RL: + 0

1-C5/2
SHS100*100*10.0
U/S BP
RL: -940

1-C4/4
SHS89*89*3.5
U/S BP
RL: + 0

1-C5/1
SHS100*100*10.0
U/S BP
RL: -940

1-PC 1/2
UC250*73
U/S BP
RL: -950

1-C1/1
SHS89*89*6.0
U/S BP
RL: -50

1-PC1/1
UC250*73
U/S BP
RL: -950

10
0

90

89

89

89

7901

89

89

89

9090

90

90

90

89

4951 89

90

4861 89

90

89

1521

1180

35
91

4950

89

89

837

90

90

26
91

UNIT 1

GARAGE SLAB -510

SLAB +0

4001

892420

1701

1-EXTRA/1
SHS89*89*3.5
U/S BP
RL: -510

1-CIP/1
PLT25*250

1-CIP/1
PLT25*250

8949515284

47
31

1001301100

1700

736

89

894681891701

5284

9090381189254

25
4

37
82

89

90

10
0

8914
21

89
25

91
89

14
21

89

89

89

68
0

33
60

14
31

89
25

91

90
33

01
26

91

89
68

1
89

17
99

89
70

2
90

89
47

31

90

12
71

89
13

81

4681

89
53

1

40
01

89

4251898929201940

52847091730

1180



C

10

EA B D F

6

7

8

9

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

NS

E
W

Rev

3

BEAM MARKING PLAN

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP02

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

2x
45

*2
90

2542

1-C4/1

1-
B4

/1
-P

FC
23

0*
75

1-C4/12

1-C4/18

89 4251

14
6

G

G
MP07

14
02

90

H

H
MP07

1-B23/1 - PFC180*75

2x 45*240 2x 45*240

32
10

75

90

2x
45

*2
90

90

1-C 4/8

1-C4/20

D

D
MP05

2x 45*360

75

1-PC1/1

1-C1/1

1-PC 1/2

1-B19/1 - PFC180*75

2x 45*290

68
0

1-C5/1

1-C4/4

1-C5/2

1-C4/11

1-C4/21
1-C4/23

90
1-C 1/2

1-C4/15

1-C4/24

1-C 4/16

SLAB +0

1-C4/19

75

1-C4/10

1-C4/9

1-B5/1 - PFC230*75

1-C1/3

F

F
MP06

1-C4/14

90

1-C4/3

1-C4/25

1-C4/13

1-EXTRA/1
90

90

1-C4/22

2x
45

*2
40

90

6037

90

90

LL
MP10

C

C
MP05

GARAGE SLAB -510

UNIT 1

90

32
10

26
90

2x 45*290

14
6

2x 45*290

1-ST1/1

5600

1-
B1

/1

1-
B2

1/
1

-P
FC

23
0*

75

75

90
13

3

46
70

25
19

794

90

64
0

5298

5600 827

1-C4/7

1-
B1

0/
1

-P
FC

20
0*

75

2x 45*290

1-
B3

/1
-P

FC
23

0*
75

1-C4/2

90

75
90

1-B2/1 - PFC230*75

1-B14/1 - PFC250*90

1-B22/1 - UB250*31

1-RB5/2 - PFC200*75

1-B18/1 - UB200*22

1-C4/5

1-C4/6

1-C4/17

2x 45*290

2x 45*290

2x
45

*2
40

2x 45*190

2x
45

*2
90

2x
45

*2
90

2x
45

*2
40

A

A
MP04

B

B
MP04

E

E
MP06

I I
MP08

J J
MP08

5135

KK
MP09

8350 89

90

90

68
0

75

13
37

89

90

7314 104189

68
0

90

75
47

17
33

32
90

68
0

9082751355600

75

90

10338

5298

121675

90
14

31
75

26
19

41
40

68
0

759049657575

90

90
77

15
75

68
0

90

77
00

90

16
10

90

90

90
40

00
90

90
18

90
90

20
10

41
10

90904005751520495090752542

909049509052987575



7

10

8

6

CBA D E F

9

NS

E
W

Rev

3

FIRST FLOOR COLUMN PLAN

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP03

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

1-C4/7

1-C 4/8

20
10

1-C4/17
1-C4/6

124

1-C4/51-C4/2

1-C4/1

1-PC1/1

1-PC 1/2

1-C5/1
1-C5/2

UNIT 1

90

3x 45*90

19
87

1-
R

B5
/1

-U
C

20
0*

46

90

1-RB6/1 - PFC150*75

1-
R

B4
/1

-U
B2

50
*2

6

90

2x 45*290

9090

90

19
88

9090

20
10

49505266

90

89

1520

13
5

3461

3990

37
82

2x
45

*2
40

2x 45*290

2x
45

*2
40

2x 45*240

2x 45*90

203

1-C1/1

3461203

90

90

25
4

25
4

90

90

90
20

10

20
10

20
10

75
20

25
90

18
30

49505267

90560190124

18
30

90
90



A - A
MP02 B - B

MP02

+5639

+2735

+0

876

+3054

-510_GARAGE_SLAB -510_GARAGE_SLAB

6 7 8

+0

+2735
+3054

+5639

G
ro

ut

G
ro

ut

Rev

3

SECTIONS

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP04

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

1-B5/1

1-
PC

1/
1

1-
PC

1/
2

20
0

1-ST1/1

UNIT 1

1-RB5/1

2x 45*290

1-CIP/1 1-CIP/1

6

23
0

27
35

45°

27
35

95
0

25

25
85

31
9

27
35

15
6

15
6

95
0

25

1-
C

1/
1

1-ST1/1
1-B2/1

1-
C

4/
21

1-B5/1

1-B3/1

92
8

1-
C

5/
2

1-B1/1

1-RB6/1

2x 45*290

2x 45*290

23
0

UNIT 1

50
10

25
85

31
9

27
35

27
35

12
10

97
0



C - C
MP02

D - D
MP02

+5639

+3054

6 7 8 9
10

-510_GARAGE_SLAB

+0

+2735

86

+0

7

+2735
+3054

9
10

+5639

-510_GARAGE_SLAB

Rev

3

SECTIONS

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP05

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

1-RB6/2

2x 45*290

1-
C

4/
13

2x 45*240

1-RB4/1

1-
C

4/
4

1-
C

4/
23

1-B5/1

1-
C

4/
22

1-B4/1

1-
C

4/
1

1-
C

4/
2

25
85

27
35

2x 45*290

UNIT 1
23

0

6

6 6

6

45°

15
0

24
00

89
23

0
27

35

31
9

32
45

1-
C

4/
5

1-
C

4/
25

27
35

1-
C

4/
3

1-B14/1

1-B10/1
2x 45*240

3x
45

*9
0

2x 45*290

2x 45*240

2x 45*290

2x 45*290

UNIT 1 1-
EX

TR
A/

1

24
0

25
85

11
9

20
0

27
35

20
0

32
45

17
5

32
45

25
85

31
9

51
0



F - F
MP02

E - E
MP02

67

+5639

8
9

10

+0

+2735
+3054+3054

78

+0

+2735

+5639

9
10

G
ro

ut

Rev

3

SECTIONS

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP06

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

2x 45*290

1-
C

4/
8

1-
C

4/
15

25
85

1-
C

4/
24

1-B18/1

27
35

1-B23/1

1-
C

4/
16

2x 45*240

1-B22/1 2x 45*240

UNIT 1

20
2

24
0

47
48

18
0

27
35

67
25

2
27

35

13
9

31
9

1-
C

4/
6

25
85

1-B14/1

1-
C

4/
14

1-
C

1/
2

1-
C

4/
7

2x 45*290

45*290 (B/S)

2x 45*290 2x 45*190

2x 45*240 2x 45*240

2x 45*240

2x 45*240

2x
45

*9
0

2x 45*240

UNIT 1

24
0

26
14

29
0

27
35

50
10

31
9

27
35



G - G
MP02 H - H

MP02

6

+2735

+0

8 7

+3054

9
10

+5639

+3054

+0

+2735

678
9

10

+5639

Rev

3

SECTIONS

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP07

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

1-RB5/2

2x 45*240

1-B18/1

1-
C

4/
17

1-B21/1

1-B22/1

2x 45*240

1-
C

4/
12

UNIT 1

2x 45*290

20
2

20
0

27
35

27
35

24
0

46
88

24
0

27
35

23
0

27
35

25
85

31
9

27
35

1-
C

1/
3

25
2

20
0

2x 45*360
1-B22/1

2x 45*290

1-
C

4/
18

2x 45*290

1-
C

4/
20

1-
C

4/
19

1-RB5/2
1-B18/1

1-B19/1

UNIT 1

27
35

18
0

27
35

27
35

25
85

31
9

27
35



I - I
MP02

J - J
MP02

C

-510_GARAGE_SLAB

D EA

+3054

FB

+0

+2735

+5639

-510_GARAGE_SLAB

+2735

+0

FEDCBA

+3054

G
ro

ut

G
ro

ut

G
ro

ut

G
ro

ut

Rev

3

SECTIONS

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP08

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

2x 45*290

1-
C

4/
10

2x 45*290

1-B4/1

10

10

1-
C

4/
22 1-
C

1/
3

2x 45*290

1-B10/1 1-B21/1

1-
C

4/
12

1-RB5/2
45*360 (B/S)

2x 45*290 2x 45*290

UNIT 1

1-
EX

TR
A/

1

20
0

20
0

27
35

50

23
0

32
45

31
9

32
45

24
0

32
45

25
85

27
35

2x 45*240

1-RB6/1

2x 45*290

80

1-
C

5/
1

1-
C

4/
25

1-
C

4/
7

1-
C

4/
5

1-
C

4/
2

1-B21/1

24
44

1-B10/11-B1/1 1-B4/1

1-ST1/1

1-
PC

1/
2

1-
C

5/
2

1-
C

4/
14

1-
C

4/
13

1-RB5/1

1-RB4/1

1-RB6/2

2x 45*240

2x 45*290
2x 45*290

2x 45*290

2x 45*190

2x 45*290

UNIT 1

6
1-CIP/1

15
0

23
0

43
0

10

31
9

27
35

23
0

27
35

32
45

43
0

10

20
0



K - K
MP02

+3054

ABCDEF

+0

+2735

+5639

G
ro

ut

G
ro

ut

Rev

3

SECTIONS

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP09

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

1-
C

4/
11

1-
C

4/
4

1-B21/1

27
35

29
0

1-
C

4/
17

50

25
2

2x 45*240

1-
R

B5
/1

1-B3/1

1-
C

4/
8

1-
C

4/
241-

C
4/

15

1-
C

1/
1

1-B2/1

1-
C

4/
20

1-
C

4/
9

1-B23/1
1-B4/1 1-B1/1

1-B22/1

45*240 (B/S)

27
35

10

27
35

29
0

45*290 (B/S)

1-
R

B4
/1

1-RB6/2

27
35

2x 45*290 2x 45*290
2x 45*240 2x 45*290

45
*9

0
(B

/S
)

31
9

2x 45*290 2x 45*290

45
*9

0
(B

/S
)

2x 45*240

UNIT 1

50

67

10

20
55

97
0

23
089

29
0

46
05

23
0

15
0

24
89

24
0

46
09

29
0

25
85

27
35



L - L
MP02

+5639

ABCDEF

+0

+2735
+3054

-510_GARAGE_SLAB

G
ro

ut

Rev

3

SECTIONS

CUSTOMER

SUBURB
JOB ADDRESS

Drawn By:

Checked By:

Approved By:UNIT 1

1:50
Scale: Project No:

7MADELEY
Drawing No:

MP10

Rev By Date DescriptionNotes:

2. M20 8.8 Galv bolts for all 22Ø OR 24Ø steel to steel connections

1. M16 8.8 Galv bolts for all 18Ø steel to steel connections

4. All hold down bolts M16 Galvanised chemset , 150mm embed U.N.O

3. All site welds to be coated with primer (Cold Gal for external)

5. All welds to be 6CFW U.N.O

6. Lines next to connections indicate cleat side

AC

MN

A2
Size:

Develle Structures
14/1 Independent way
Ravenhall, VIC, 3023
Contact: Andrew Cimbaljevic
Mobile: 0414 482 613

3 PC1 PROFILE MODIFICATION24/03/2023AC
2 ISSUE FOR FABRICATION17/03/2023MN
1 ISSUE FOR FABRICATION14/03/2023MN
B REVISED - ISSUE FOR APPROVAL01/03/2023AC
A ISSUE FOR REVIEW23/02/2023AC

1-B19/1

1-B5/1

1-
PC

1/
1

1-
C

4/
19

1-B4/1

1-B14/1

1-
C

4/
6

2x 45*290

25
85

1-
C

4/
1

1-
C

4/
23

1-
C

4/
21

1-B18/1

1-
C

4/
16

1-
C

1/
2

15
0

31
9

27
35

11
7

1-
C

4/
3

1-B3/1

45*240 (B/S)

2x 45*290

2x 45*240

2x 45*240

2x 45*290

2x 45*240

45*240 (B/S)

2x 45*240

50

UNIT 1

1-
R

B5
/1

1-
R

B4
/1

1-RB6/2

69

1-CIP/1

6

25
85

27
35

25
0

20
2

27
35

24
0

24
00

89
23

0
27

35

10

95
0

25


